


20—1 THETHA, BERAOE~SERHER UEMERRGEE (#HF)
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HETRB FIEET it 50121 %ﬂwﬁ@ 50129 (e - | 50181 % HIZE 50141 i i 50211 BFAREIGE | 50221 ﬁgggﬁt 50231 FREIEET
MEFRSE (SRR S GE| EEE | FRE AR | 2 | EME K| T | FHERR | 3 | SRk 352 | EE R iy ERnaik | 1 [ERaak| B [ERE Rk T [ERE Rk
ik HEH) B | FRERGTR) | Bk | REGE M) | B | A M) | Bk | FREECs ) | Bk | s ) | i | semr ) | e | ) | ik | seEe ) | B | s|s ™)
X 5 4,184 87,043,368 47} 1,711,508 4| 142,250] 7|  48,061] 19| 1,428,198] 17, 92,999] 251 2,530,866 23|  63,693[ 33, 319,189 28| 200,816
G 4 EH3,200] 76,581,792 38| 1,480,948 2 x| 6 x| 15| 1,226,338] 15 x| 173] 1,689,384 19| - 60,360] 28] 313,057| 18] 88,478
i 4 EH 984] 10,461,576 9] 230,560 2 X 1 x| 4| 201,860 2 x| 78] 841.482] 4 3,333 5 6,132] 10| 112,338
201 & B | 932 27,199,441 9 50,247 I x| 2 x| 2 x| 4| 24906] 70| 315208] 10| 21,964 12| 28,373 7| 10,346
202 KFims m|  269] 5,360,089 8] 1,347,957 1 x| - -6 X 1 x| 18] 574,616] 2 x| 2 X 1 X
203 K FIER IR 432] 18,317,405 4 7,449 - - 1 x| 2 X 1 x| 6] 110,406] -1 x| - - 1 X
204 % | 264 7,039,094 = - - - = - - - - -7 172,295 - - 1 X 1 X
205 & J2 | 454] 8,550,265 11 35,342 - = 1 x| 4 x| 6| 19,600] 31| 165,376 3| 15,401 4] 10,562] 4] 37,782
206 & 3 7| 253 2,479,872 3 34,619 - = 1 x| - -2 x| 6 13,310 1 X 1 x 1 X
207 & fle | 174] 2,069,550 - - - - = - - - - - 1 X 1 X - - = -
208 # FF i 74| 1,487,898 1 X - - - 1 X - - 7 30,766 - - 1 X - -
209 £ By, TH 112 768,921 - - = - - - - - - 16 68,725 1 X 4 9,428 2 X
210 & & T 69 952,412 - - - - = - - - 7 77,307 - - 1 x - -
211 B 72| 2,109,784 1 - = - - - - 1 x| 3 x| - = 1 X 1 X
212 = Bk 95 247,061 1 x| - = 1 x| - - - 1 X 1 X - -
320 100 B 2 124,556 - - - - - - - - - - - - — - - - =
322 1%t 2 124,556 - - - - - - = - - - - = - = - - =
340 £ By | 140] 2.366,920] . 3 18,060 - = 1 X1 X 1 x| 8 80,619 — - 1 X i X
| 342 £ g R 40| 1.189.670 - - - - = - = x| - = X - -
= 343 = % By 18 131,649 = - = - = - = - = -4 72,813 - - - - = =
3 344 3¢ Y 70 1,013,721 3 18,050 - = 1 X 1 X 1 X 2 x| - - = = 1 X
| 345 % ¥ H]) 12 31,880 - - = - - - - == - - - = - - - - ~
360 B Fn  EH|  258] 3,738,l17 = - - - - - - -~ | 18] 125,216 1 x| 2 x| 5| 105,618
361 JIl 7 B 23 105,769 - - = -~ - - - - -2 x|~ -~ - - -
362 = % Ay 19 179,185 = - = - - - = - - - 1 x| - - = - -
363 M B A& W 216 3.453,163 = = - = - - = | 15| 122,716 1 x__ 2 x| 5| 105,618
380 &= FE-_EH 30 21,670 - - - - - - - - - - -~ -~ - - -
38 B W # 12 9,028 - = - - - - - = - - - - - - - - - -
386 £k At 18 12,642 = - - - - - = - - - = - = - = - - =
400 B T E 69 456,649 = - - = = - = - = 8 1,690 1 X X 1 X
401 7  E Hy 57 420,424 = - - - - - - - - 6 X 1 X X 1 X
402 B B & & 12 36,225 - - - - = - - - - -2 x| - - - - = -
420 Jt B & B 201 2.085,026 6 212510, 2 X - - 3 X 1 x|__37] 632,457 1 X - -2 X
124 F %] 31 461,104 - - - - — - - -__- - 11 274557 - - - - -
425 F 3 H 54 489,461 1 X - - - - - - 1 X 9 125,105 - - - 1 X
426 5 & Wl 98 933,167 5 x___2 x| - -3 x| - - 17 232,795 1 x| - = 1 X
127 W& W7 18 201,294 = - - - - - = - = - - I - - = - =
440 = B Eh 274 1,668,638 - o= - - - - = 7 1,500 1 X 1 X 1 X
441 = B 53 113,595 = - - - - - - - - T2 x| - - - - - -
442 K JE H] 112 795,411 - - - - - - - - - - 5 X 1 X 1 X 1 X
443 T T HT 61 665,802 - -~ - - - - - = - - = - - - = -
444 B @ M 6 6,150 - - - - - - - - - = - T - = - - -
a6 % I A 11 29,245 - - - - - = - = - - - - -
447 5 @ Il # - - - - - - - - - - = - - - - - - J - -
449 + 7 Ji| # 3 2,143 - - = - - - = - - - = - = - - - -
450 F Jt 1 & 5 2,947 - — - == - = - - - = = - = - -
451 & g LA 3 1,086 - - - - - - - - = - = - = =
452 JI|__E A4 4 4,013 - - = - - - - - = - - - - = =
453 B & B ff| 16| 48,246 - = o - - - - - = = = =




20—1 TWHHA, ERIOENEXFUKRCEHERKRTEE (H5E) (#EE)

502 R MR - & o H Y & # 5T : 511 REEY - KE Y A T
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Jege R | B | ERm AR | S | SRR | Uese [ ERTRE SR | FE3E AR SR | Euek] SEPOTARLAR | B | A ra iR | S0 | AERITAR | B | I eR | R | TR
PiEk | FRARCER) | P | sRERCA ) | Ardk | SEARCRF) | Bk | FRAECE M) | B | seROR ) | B | sesar ) | Bk | R m) | ik | e m) | pik | seEr ) | Bk | s m)
B Bl 15| 157,612] 22| 172,484] 30| 391,193 26| 145998 74| 1,079,881) 450| 13,803,131 40| 631,142 26| 168,462] 88| 5,100,800 77 2,254,377
il B B 13 x| 11 26,799| 15| 102,868] 21| 138,088 48 x| 376| 13,116,742/ 31, 432,912| 22 71,4411 74) 5,064,752| 69| 2,227,257
i # B 2 x| 11) 145685| 15 288,325 5 7,910] 26 x| T4 686389 9| 198.230] 4| 97,021, 14/ 36,067 8§ 27,120
201 Z% R 2 X 5 970 5 3,915| 12 77,219 17 x| 61 563,435 9| 231,887 5 20,722 9 37,911 9 18,627
202 K Fo s M T - - 1 X 2 X - - 10, 438,952] 16 73,578 1 X 1 X 4 8,997, -3 10,851
203 K Fo#8 (L 2 X - - 1 X - 1 x| 146| 10,800,476 8 19,522 4 8,230 34 4,852,414| 29| 2,059,371
204 X FE |l 2 x| - o - - - 3] 28529 31[ 297,347 2 x| 1 x| 7 119,390] 7| 106,970
205 . JR T 4 17,793 2 X 2 X 3 37,888 9 42,710) 45 380,809 4 12,010 6 26,229 8 17,610 8 10,089
206 # F T - - 1 X 1 X - - 1 x| 25 206,757 4! 147,045 3 780 4 15,699 4 8,172
207 L fE T - - - - - - - - - 18 353,600 1 x - - 4 11,571 6 12,647
208 # Pr i = - - - 4 28,350 1 X 1 X 9 239,475 1 X 1 X 3 X 2 X
209 %&£ BJ 1 X X - - 3 10,800 3 30,080 11 45,396 - - - - 1 X 1 X
210 &% ¥ 2 X - - - - 1 x 3 53,800 2 X 1 X - - - - -
211 B W [ - - - - 1 x, - - 4 x| - - x| - - - -
212 & FE | - i - - - - - - - 8 26,683 - - - - - - -
320 1 A # - - - - - - - 2 X - - - - - - - -
P - - - - - - - 2 x[ - -l - - - -l - -
340 & B9 EP = - 2 X 3 X b - 1 X 8 47,270 - - - - 1 X 1 X
342 - # | - - 1 X - - - - - - 5 X - - - - 1 X 1 X
343 = 4B HT - - 1 b 3 X - - - - - = - - - - - - .- -
| 344 BE A5 Y] - - - - - - -1 x{ - - - - - - - - - -
— 35 Ze B - - - - = - - - 3 x - = - - -l - -
N 360 5% s Y 1 x| 1 X -3 x| 5 9,798] 18] 139,807, 4 2,368 2 x| 3 9,700] - -
@ 361 )i pq E| - - - - 2 x| - -1 x] - - - - - - - -
l %2 = & W] - - = - = - - -1 x| 1 X - - = = -
363 H JR A M| 1 X 1 X - - 1 X 4 x| 16 X 4 2,368 2 X 3 9,700 - -
380 = PEEp - - - - - - - - -1 - - - - -l - - - -
38 ¥ | #H| - - - - - - - - -1 - -l - - - -l - -l - -
386 4 B H - - - o -l - o = -l - - - -l - - - - - -
400 %% T - - 1 X 1 X 1 X 2 X 1 X 1 X - - - - - -
401 #&  He  Hp - - 1 X 1 X - - 1 X - - - - - - - - -
402 B B & H| - - - - - - 1 x| 1 x| 1 x| 1 x| - - - - - -
420 b B W EH - -] 6] 144385] 10 216,460, 1 x| 17] 263,892] 14[ 298,714 2 x[ 1 x 3 x| 1 x
424 £ BB - =3[ 51,500] & x| 1 x| 1 x5 97,504 - -1 x| 2 x| 1 x
425 £ F B - - 3] 92,885 3] 23,750 - -2 x| 1 x| - -l - - - - -
426 [ B I - - -1 x|~ - 14 231,392 6 57,370 2 x - -1 x| - -
L - - - - - - - - -2 x| - - - - - - - -
40 F B | 1 x| 1 x| 1 x| - - 1 x| _31]  191420] 32 x| 1 x| 7 16531] 6 X
4“1 = B Wl 1 x| - - - - - -1 xf 1 x| - - - - - - -
42 kK E B - -1 x| 1 x| - - - -| 170 181,556 1 x| - - 4] 15401 4 X
43 F 7w B - - - -l - - - - = -9 5697 1 x| 1 x[ 2 x| __ 2 x
44 B @ # - - - - - - - -l - = - - - - - - - -
46 £ NI MW - - - - - - - - - - - - - - o -
47 & @ M| - - - - = - - - = -l = - - - - - - - - -
49 4w I M - - - - - - - - - - - - - - - -
450 T b oA - - - - - - - - - -1 3 X - o - - o -
451 £ dp o & - -l - -l - - - -l - - - - - - - - - - - -
452 JI E - - - - - - - - - -l - - - - - - - -
453 WE B oA - - - - - o -l - - 1 x[ - - - - 1 x - -
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N =k N =3 =t
TR A, EmADEREEFRHE VCERELRSEEE (%) (FE=)
1511 B E E W - K E W H % 512 & ®  -fk B 1 7 . S—
51151 &pfsE  |s1161 SRS | 5p,q) ORGSR 3 51211 WIS |51221 HC L8 | 51031 ke | 51241 Eans | 51251 mecekan | 51061 1 S
5 JKEEMEITE FEFE ANDHD) H5E
B | ERER AR | I | ERESR| B2 [ ERfRk ey FRERE | 5 [FRE K| T | ERE K| BE | FRrak| BE | SRk EHPE SRR FERES

Bk | FeRECr M) | Bk | eARCE M) | Bk | RGP M) | Bk | AR ) | Bk | seEorm) | Bt | e ) | Bt | mae ) | ok | semErm) FEGR) TR )
FH_84]1,628,135] 60, 3,264,398 75| 755,808 747| 11,741,796 36|  94,401| 38, 90,215, 46 2,096,680 58] 702,897 213,999 941,404
B #H 64[ 1,430,905 53[ 3,255,201 63| 634,274 570 9,672,925 31 93.447| 28]  78.413] 32| 2.831.755| 48| 680.289 181,325 246,445
B | 20| 197.230] 7 9,197 12| 121.534| 177| 2.068.871] 5 954] 10| 11,802 14, 164925 10| _ 22.608 32.674 694,959
% B 13| 177,126] 7| 22,380] 9] _ 54,182] 169] 3,921,560] 8 _ 27,940] 10| _ 17.503] 14| 2,314.565 O _ 10.667] _ 8| 76.660 35,072
KFum E] 4 43.000] 2 x| 1 x| 51| 390,672 3 29 2 x| 4] 203,551] 6| 29,145 6|  24.300 9| 13.659
KFaEsL ] 14| 260,440| 29| 3,166,241, 28] 434,958| 84| 1.646.234] 5 6,935 4 10,142] 2 x| 12| 561,747 4] 34.879] 8| 48.679
x B | 4, 15129 2 x| 8| 33230 42| 1.420.240] 2 x| 2 x| 5| 229,206] 3| 26.104 2 x| 4] 24354
B = | 8 250,140, 5| _39.501| 6] _ 25.230] 71| 1.099.728] 6 8,773 4 15634 2 x| 7 8,343 3 6,818] 13| 83.239
B ] 7, 28.081 2 x| 1 x| 53| 544,457 2 X1 x| 2 x| 713933 3 x| 9 9,026
£ & W 2 x| 3] 10,609 2 x| 39 183.672] 3 7,200 2 x| 1 x| 3 x| 3 12,600] 8| 10.370
®W T 2 X - - - - 4 133,820 1 X - - - - - -~ - - - -
£ B ] 5 10,978] - 4 x| 16/ 107.760] 1 x| = -1 x| - = -5 9,762
z = & 1 x| = - | 12| sr.080] - - = - -1 X - -3 X
- - = 1 X 2 X 13 143,065 - - - - 1 X - - - 1 X
= [ 4 9,070 2 x| 2 x| 16| 24657 - -3 1,800 - - - -7 1,004
W E = - = - 2 X 2 X - - X - - - —- — -
TR T S 3 I - I - - = -
£ B m| 4 9870 1 X1 x| 20 695776 = = A1 X - 7 624606
EANE i x| 1 x| 1 x| 7] 413.378] - = x| 1 x| - = T 2 x
= ®m B - - - - - = 5931 - - - - = = = X
B A A - = - | 9] 276.467] - - = - = = - |4 220,79
%= % w3 X = T - = 1= = = = T -
% _m_ #| 5 54,000 - -4 x| 46 631534 3 X3 X 6] 134047 2 x4 x5 1794
I - T X2 T = S = — = 1 x
= = m 1 X - - 1 X - 1 - 1 - - 1 x
BB & B4 x| - —| 3 _6r.160] 43 628348 3 X3 x| 6 134047 3 x4 x 3 X
N = — T T P - = T = X - -
R E— - T p - e = - p  p— =
. - T 15 X - 1 - 1 - 1 - 11 X - -
P S = T X T 1 X - T T =
R S = 5 19.967] = T 1 x T 1= -
I 1= - 1 I T S = = = -
b % % 75| 136318 X1 x| 21 162.635] = = 1 X 2 X [ 7]__29.886
E m m 1 x| - - T—1 X - T - - - - -
£ % Bl 1 x| - = = x| - - - = = - 3@ X
N | ) x| 1 x| - | 9] 106,04 - - = = 1 x| = 2 X
i X = = x| 6] 33328 - = -1 X1 X = -3 18.403
T % m| 6 3043 5 x4 TAl| 78] 507,516 2 x5 1179 5| 19763 6| 2004 5 4303 18] 35673
T -1 X - 23 39313 - 2 X2 X1 X1 x| 613,110
* = ®E| 4 x| 2 x| 2 x| 27| __67.101] 2 x| 2 x| 2 x| 3 2,240, 3 x5 6,118
T W H 1 X 1 X 1 X 13 395,334 - - 1 X - - 2 X - - 3 15,640
2 B - - - = - - - - - - - - - -~ - - - - -
F L) - - - - - - 2 X - - = - — - — — - - - -
2 8 )1 - - - - - - — -~ - - - - — - — - — - -
+ & JI| M - - - - - - 1 X = - - - - - - - - -
Fab L A 1 x| 1 x| 1 X1 x| - = - = - - - O = =
£ db il - = - - 3 1,086 - - - - - - - - - 1 X
Nk - - - - - - 3 X - - - - 1 X - - - 1 X
e - - - s 670 - - - = - = = X2 x
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512 & Bk B B & 521 H & M B H % 522/ RIT HI5E
e | 9127 s | 51281 s | 51201 'ﬁfz‘;gm 51299 gg{%ﬂ% 3t 52111 ggﬁﬁ 52121 A MAIFE | 52131 %ﬁ 7*E | 59101 ﬁg?ﬁﬁ 3
T | FMERIKR| 3 | SRR RR | 35 | ERmERK | FE | FEmaR k| MRk | T | SRk B | EHmaik| T | Frmaik| 3 | ERR R Eueg| 4Rk
e | mECrm) | ik i mECF ) | Frdk | BEG D | Bk | s m) | Bk | eda(r M) | pidk | R ) | Pk | A M) | Brk | sedan ) | ek | maEOr M) | B | EGTED
=8 #H 83| 2,223,642 50 390,895 72 312,437, 197} 3,775,226| 459| 9,520,133] 100| 2,655,024 60| 262,582 59| 431,120 240| 6,171,407{ 123| 2,597,769
i i 2f| _66] 2,036,611 38| 330,951| 56| 226,820] 151 2,966,869] 345 8,368,193 64| 2,425245| 44| 204,683] 49| 423,734] 188 5,314,5631] 100] 2,412,790
R 5 3 17 187,031 12 59,944 16 85,617 46 808,357 114| 1,151,940 36 229,779 16 57,899 10 7,386 52 856,876 23 184,979
200 &2 R | 24| 596,648 11 233,872 16 47,195 45 552,429 75| 1,944,656 13 514,649 10 5,905 7 7,982 45] 1,416,120 300 1,149,060
202 K ¥ & B 5 19,110 2 x| 2 X 12 97,375 26 579,086 6 32,952 1 X 4 9,882 15 X 8 124,820
203 KRB 1L | 6 116,851 5 34,919 8 15,704 30 X 30 942,393 7 58,235 2 X 5 287,325 16 X 16 471,781
204 X B W 7 821,875 4 37,971 3 110,540 10 94,178 35 517,267 9 205,623 5 23,148 3 3,670 18 284,826 7 277,743
206 & B 9 267,214 7 17,565 7 16,053 13 X 54| 1,894,964 8 711,833 7 64,491 11 90,025 28] 1,028,615 10 116,790
206 & H 6 2,438 4 2,445 5 8,549 14, 498,821 39 762,042 91 455,925 4 14,547 9 10,748 17] 280,822 10 173,490
201 & & T 4 69,900 1 X 5 5,603 9 52,899 10 77,539 2 X 2 X - - 6 14,561 -5 19,252
208 4 Bt | - - - - 1 X 2 x| 12| 727,510 2 X 4 1,132 - - 6 X 5 56,394
209 A& By i = - 3 499 2 X 4 24,101 14 291,969 2 X 3 33,717 1 X 8 253,340 1 X
210 F%F & W 1 X 1 X 2 X 4 30,890 13 183,123 - - 1 X 4 8,148 8 X - -
211 8 W 3 X - - 3 2,799 5 3,621 14 339,365 2 X 2 X 2 X 8 334,230 4 17,503
212 F FE 1 X - = 2 X 3 8,669 23 108,279 4 50,513 3 1,266 3 4,250 13 52,250 4 X
320 (Lt 3 &R = = 1 X - = = - 3 0,000 1 X X = = 1 X = =
322 1 ¥ A - 1 X — — - 3 0,000 1 X X - - 1 X - -
340 A B9 Ef X 3 53,600 6 13,784 24 320,956 3 43,324 4 1,217 2 X 15 X 6 8,231
342 F EE H] - - - - - - 3 9,302 5 44,196 - - 1 X 1 X 3 X 2 X
343 = #% | - = - - 1 X 2 X 3 X 1 X - - 1 X 1 X - -
l 344 B AT 1 X 1 X 2 X 1 X 15 259,736 2 X 3 X - - 10 217,118 3 1,163
o 345 % % W] - - - - - - - = x| - - - - - -1 x| 1 X
ol 360 B% B E 5 62,431 5 8,713 5 3,694 8 363,930 23 392,593 2 X 6 5,920 2 X 13 378,822 5 55,240
< 3L JI Fw B - - - 1 x| - -3 9,850 1 x| - - 1 X 1 x| - -
1 362 = E H - - - - - - - - = = - - - - - - = = 1 X
363 M JH A T 5 62,431 5 8,713 4 X 8 363,930 20 382,743 1 X 6 5,920 1 X 12 X 4 X
380 F P E 1 X - - 1 X 2 X 6 12,248 12 9,202 1 X - - 3 X — —
385 B W H - - - - - - - - 2 9,028 11 X - - = - 1 X - -
386 f1 A A 1 X - - 1 X 2 X 4 3,220 10 X 1 X - - 2 X - -~
400 & T ER 1 X 1 X - = 2 X 6 12,419 3 10,866 = - 2 X 1 X 3 X
401 & K A7 1 X 1 X - - 2 X 3 1,510 1 X - - 2 X - - 3 X
402 B B F H = = - - - - - = 3 10,909 2 X = = - 1 X = =
420 dv B & BB 4 100,533 = - 3 14,172 4 3,265 15 135,594 2 X 2 X 2 X 9 104,342 7 64,438
424 % H]| - - - - - = 1 X 2 X 1 X - - - 1 X 2 X
425 F  F M 1 X - - 1 X 1 X 2 X 1 X - - - - 1 X 2 X
426 5 [EHT 2 X - - 2 X 2 X 10 53,413 = - 2 X 2 X 6 49,816 3 X
427 & 1 X = - - - - - 1 X - - - = = - 1 X - =
440 & B A 5 20,267 4 1,064 4 X 24 408,038 27 268,130 13 128,882 2 X 2 X 10 92,068 2 X
41 = B H]| 2 X 1 X 1 X 7 1,217 5 58,010 2 X 1 X - - 2 X - -
442 K TE H]| 2 X 1 X 3 11,660 4 25,822 10 113,965 3 41,997 1 X 1 X 5 X 1 X
443 F TH H - - 2 X - - 5 377,853 1 X 1 X - - - - - - - -
VR S| S - - - - - - - - - - - = -
46 X JII# 1 X - - - 1 .4 1 X 1 X - - -
447 B 3B I M| - - - - - - - - - - - -= = = - -
449 4 # Ji| # - - - - 1 X 1 X - - - 1 X - -
450 F db i A - = - -1 x| 1 X1 X~ - - - = =
451 £ db WA - - = = -2 x| - - - - = = - = - -
452 Il E_Hf - - = - = -1 x| - = - - - - - - -
453 B & B M| - - - -2 x| 8 32285 5] 20005 - - 1 x 2 1 x
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522 % B & & % 523 B - & B Mk #E FE

. . 25 i)
TR 52211 BEHEIFE | 52221 é,g% B | 52091 g;;; 55 50201 fgggﬂg* = Bt 52311 JRIENSE | 52312 FEFEMIEISE | 52313 ATIHEISE | 52314 IEMIEISE | 52315 EMEE

B | ERTm iR | 43 | PR | B3 | AR AR | IR [ RPN AR | e FRIRRR | 30 |k | SR | ARk | B | ERERIR| B | A mak | BE | AR

Pt | A M) | B | JedCR ) | BRs | SEMC M) | Bk | SRMECR D) | BTk | esR(r ) | ek | seERCR M) | Bk | e ) | Bk | el ) | mi | s m) | e | e m)
= #] 35 209,679 7] 23,458 7 11,315 74[ 2,353,317} 236] 3,227,421 1 x| 15/ 401,980 38| 188,712| 19| 88,736/ 16! 182,366
i il g 26] 194,121 7| 23,458 7] 11,315] 60| 2,183,806 161 2,196,015 1 x| 9] 160,774 26] 97,390| 13| 65936] 10| 56,274
i i Bl 91 15558/ - - - = 14| 169,421] 75 1,031,406] - -1 6] 241,206 12| 91,322 6] 22,800 6/ 126,092
201 & R | 8] 100,497 3 400] 4 1,916 15 1,046,247] 49]  495,155] - -| 5] 109,946] 9] 47,670 6, 34,070 4] 19,360
202 KFgEm -~ -2 x| 1 x| 5] 101,223] 1I| 596,353 1 x| - -1 x[ - - = -
203 KFuESim[ 3] 27,100 - - 1 x| 12 x| 9 221,960 - -l - -l - - - - - -
24 X B il 4 504 - -l - -l 3] 277,239} 15 71,987 - -1 - -l 2 x| - - 1 X
205 & J® hl 3 27,317 1 x| - -l 6 x{ 19| 527,882] - - 1 x| 3] 15,251 2 X 1 X
206 &% H | 4 21,516] - -l - —-| 6| 151,974} 16| 120,798] - - - -3 2,953 - - 1 X
200 M | 1 X - - 1 x 3 x| 17 65,130] - 2 x| 5] 12,261 2 x| - -
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203 RF0ES LT 19 258,506 8 231,544 4 X - - = - 5 935 2 X 15 110,421 4 68,165 3 28,618
200 % _® ] 7 10,986] 4 5.718] 2 x| - - - 1 x| 15| 1,684,395 3| 1,201,122] 4| 196,232
205 B B W 25 515,105 12 320,767 3 8,585 1 X 3 X 4 155,780 2 X 38 917,070 17 824,984 3 X
206 # FH W 12 91,287 6 36,321 3 50,666 - - 1 X 1 X 1 X 15 47,816 4 13,196 3 14,592
201 7 & W 19] 1,028,831 5 X 13] 1,008,251 - - - - 1 X - - 9 10,836 1 X 1 X
208 1 FT W 1 X - = - - 1 X - - = - - - 16 234,946 13 233,938 1 X
209 A& By T 3 730 2 X - - - - = 1 X - - 5 11,362 1 X 1 X
210 F ¥ 5 2,394 4 X - - - = - - - 1 X 2 X - - - -
211 B 3 2 X 2 X - - - - - = - - 8 775,267 7 X - -
212 F BB i 7 7,077 3 5,950 1 2 X - - = — 2 X — = = —
320 1 30 Ef - - — — —- — — = — — - — = 1 X = — - =
322 0% M- - - - - - - - - - - 1 x| - - =
340 A& E  Ef 7 X X 3 X - = 1 X X - = 12 628,447 4 X - -
342 . # ] 2 X - - 1 X = - - - X - .- 6 624,134 2 X - -
343 = #  H] = - - = - - - - - - - - - - 2 X 1 X - -
| 344 BE A& ET 5 10,340 2 X 2 X 1 X = = - - 3 1,837 1 X = -
— 345 & ¥ E] - - - = - - - - = - - 1 x| - - = -
o 60 B m #| (1]  15044] 1 x| 5| 13,064 1 - R X - - 14 179,013 2 X2 X
S 361 Il 7| H| - - - - - - - - - - I 3 x| - - - -
| 362 = = m| - = - - = = I - - = 1 x| - - = -
363 M B A& W 11| 15244 4 x5 13,064 1 x| - - i P -| 10104613 2 x
380 & & E| 3 3,200 1 X - -1 X1 X = I - - =
I ) - = - -~ - - = T = - =
386 @ B | 3 3,270 X - -1 x| 1 X = - - = - - - - =
400 % w1 X X - - - - - - - - - 24276795 18] 261,263 3 6.562
201 & B A1 X X - - - I S 23 x| 17 x| 3] 6,562
402 W B & f - - - - = - - - = 1 x| 1 - -
420 Jt % % B 12 50,649 7 X2 X - -3 3be6[ - - 6 x - -3 513
o - - - - - - = - - - - - -
425 £ % #y| 3| 15180 3 15,180 - = - - - = - |4 7,030 - 2 x
426 5 W BT| 6|  32.883] 3| 31,735 2 X - -1 X - - - = x| - - =
a7 W& m| 3 2,586] 1 x - - = - 2 x - = X - o1 x
440 = & B 34 240,329] 6| 7,679] 21 201477 - 1 X1 x5 x| 10 16840 6] 10812 2 X
Ul & 8wy 1] X1 X - - o= - - - - = X1 X1 x
142 X 3% #y 11 x__ 3 x| 6] 63,389 - - = - = 2 x| 1 X - - = -
43 F m W] 20 167,361 - - 15| 138,088] - -1 x 1 x| 3 x| 2 X1 X - =
wi B w W - - - - - - S N - - - - - = -
Y - - - = - - - - - - -5 7446 4 x| 1 X
47 & o8 I #] - - T - = ITTE - = - - = - - - - - -
49 + & )i #t] - = O = - = = - = - -1 = - = - -
450 F b W A - = - = - = - = = - - -
VTR AT - - - - - - = - - i = - - - -
B2 Il £ A1 X1 X - - = e - - = - - = - =
53 B = HH 1 x 1 - = - - = = - = -
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549 I o B/ I h B W B R
ey . W B8 R B .
N 54231 {LEEMREITE | 54232 FiTA MR | 54241 %ﬁﬁ%ﬂ@ Fig 54911 #EHIFE 54912 MEBLALIEIGE | 54921 &4HISE | 54931 gg Sl 54941 EE%/ A 54942 ?fjgjg%
W3 | ERRa R | B | ERRERR | S | SRS k| EmREsSK | T | ERmaik| 30k (ErmRk| T [EHERk] FE | EREAR| B [ ERE K| B | EREaik
Frik | FRARO ) | Pk | SRR D) | ik | seAECe M) | PR | waEGe M) | Bk | EGE ) | Pk | EErl) | Bk | BRI | B | emr ) | Bk | M) | ik | (5 )

& 73] 772,305| 19 28,988 35] 220,373| 535| 6,276,109] 48| 315,936] 72| 405,507 47| 292,795 25| 154,019] 22| 208,535 10 92,727

fiil B g 58] 681,750, 13 19,162] 29| 215,858| 396, 5,172,576] 40| 308,442] 55| 270,128| 34| 223,857 16 97,251 14| 103,044 8 X

R 5 B 15 90,555 6 9,826 6 4,515| 139 1,104,133 8 7,494 17| 135,379 13 68,938 9 56,768 8] 105,491 2 X

201 &= B | 23] 346,081 3 1,760 5 64,672] 137] 1,828,036/ 12| 209,810/ 13 49,833 9 19,325 1 x 8 70,087 5 65,301

202 KF0E Mt 5 14,870 2 X 3 x| 39 113,337 3 3,830 9 19,477 2 X 1 X 1 X 1 X

203 X Fn &K 1L TH 2 X 1 x 5 1,006] 33] 223,242 3 1,960 5 19,132 3 86,672 1 X = - 1 X

204 X F 5| 168,246 1 X 2 x| 45 X 6 7,278 8] 130,972 3 3,942 4 1,559 3 19,275 - -

205 # JB | 12 65,974 2 x 4 4,272 54] 1,500,013 4 53,445 9 20,051 7 24,770 3 52,469 1 x - -

206 %% H ™ 4 11,415 1 X 3 x| 23 X 6 28,590 2 X 2 X 1 X - - - -

207 7™M 2 X 2 X 3 1,604 25] 264,603 3 2,819 6 10,210 2 X 3 14,144 = - - -

208 PR i 2 X[, - - - = 6 3,410 3 710 1 X - = - = - - = -

209 £ Ey- 7 - - 1 X 2 X 9 54,094 - - - - 2 X - - 1 X - -

200 % ¥ 2 x - = - - 8l 117,261 - - 1 X 1 x - - - 1 X

211 B 3%k m| - - - - 1 X 9] 104,522 = - - - 2 X 1 x - - - -

212 £ _PFE T X - 1 X 8 7,300 ~ - 1 X 1 X X - - - -

320 1l 0 BN X - — - - X - — - - — - X - - - -

322 [l 3K x - - - - X - — = - - - X - -

340 & By E 4 1,977 2 X 2 x| 19 62,998 1 X 3 5,153 3 X Pl X — - 1 X
| 342 £ 7 W] 2 X1 x| 1 x5 1,073 1 x| - 1 x| - - - - -
> 343 = /4 B - - - -1 x| 2 x| - -1 x| - -1 X - -
3 344 BE MBS R I x 1 X - -1 20,628 = - 2 X 2 X 1 X = - 1 x
| 345 & ¥ ] 1 X - - - - 1 X - = - - = - - - - = - -

360 B % ED 5 73,648 3 3,237 2 x| 42] 630,510 - — 6] 112,296 5 56,060 3 1,841 7 X = -

361 JI v W 2 X 1 X - - 3 2,380 - - - = - - 1 X - - - -

362 = £ H] 1 X - ~ - - 8 108,463 - - - - - - - - 7 X - -

363 H JF A H]] 2 X 2 X 2 X 31 519,667 - = 6 112,296 5 56,060 2 X = = = -

380 = BB E( - - - = - - 3 X 1 X - - = = = - = = = =

385 ¥ @ | - = - = - - - = - = - = - - - =

386 4 B - - - - - - 3 X 1 X = - - - - - - = -

400 3 TR EB 2 X 1 X - 13 80,821 X - — 1 X — - - - 1 X

401 & HEe W 2 X 1 X - - 9 58,116 X X - - - - 1 X

402 9 B & &N - = - - - - 4 22,705 - - - - - - - - = - - =

420 46 & W B 2 X - — 1 x| 97 196,028 2 X 2 3 810 = — 1 X = -

20 T B\l - - - -4 x| 1 x| - 1 x| - - - - -

425 £ F H| 1 X - = 1 X 7 69,157 - - - = - - - - - - - -

426 JR BB H] 1 X - - - 15 110,364 1 X 2 X 2 X - -~ 1 X - -

427 W & W - = - - - - 1 X - - - - - - - = - = - -

40 & & 3 1 X~ 1 34120164 3 1,762 6 x| 1 x__ 3 1,680 - - -

4l = & By - - - - - -9 3,960 2 x| - - -2 x| - - -

42 kX g 1 X - - - - 7 64,462 1 X 2 X 1 X 1] - x - - -

443 F m m| - - = - 1 x| 12 45,592 - - 4 8,750 - - - - = - - =

44 B @ F| - - - - - - 6 6,150 - - - - - - - = - - -

46 £ JI #{T - = - - - - - - - - - - = - -

447 B 58 JI| A - - - = - - - - - - - - - - - = - - -

449 + & I # - = = - - - = - - - - - - - = - - - - -

450 F df [ - - = - - = = = - - - - - - - = = - = -

451 _F db 10 - - = - - = - = - - - - 1= - -

52 )1 E 4 - - - - - - - - - - - - - - - - - = - -

453 W F FF oA - - - - - - - - - - - - - - - - ~ - - -
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549 fin & & | S h o V> ST
> — R e, et
HRTAR 54951 ToiXZEITE | 54961 ,;,,%J% # 54901 %ﬁ%ﬁ H2E | 54099 Zoofiutse
B | MR X | ErERR T | SHERR| 5% [ EHERk ‘
PrEk | AT | BrEk | SEAECP ) | Bk | FEEE) | Pk | AT -
[ # 18] 2,014,356 13 35,652 231 107,589| 257| 2,649,593
il Ei 2h 12| 2,008,263 9 27,322 20 101,015 188 X
26 i #H 6 6,093 4 8,330 3 6,574 69 X
200 & B 4 924,521 6 16,905 11 17,452 68| 454,402
202 KFEHE T - - 1 X 1 x| 20 60,562
203 KFER LT 2 X - - 2 X 16 107,922
204 X B 1 X - 2 x| 18] 707,044
206 | H W 1 X 1 X 1 X 27 267,686
206 B FH ™ 2 X - - 2 X 8 19,000
207 & TH - - - - - - 11 X
208 #1 pr Th - - - - - - 2 X
209 &£ B T - - 1 X - - 5 8,435
210 F ¥ - - - - 1 X 4 38,147
211 B &, T 1 X - - - - 5 37,201
212 £ Rk 1 1 X = = - - 4 3,139
320 |33 Ef - - - - =
322 LI & A - - - - -
340 £ By ER - - - = - 9 14,312
342 - FE ] - - - - - 3 X
343 = #  HY - - - - - - - -
| 344 B B HY - - - - - 5 13,375
— 345 & - - - - - - 1 X
o1 360 B s ER 2 X 2 X - -1 17 352,826
@ 361 )1 7w E| - -1 - - - - 2 X
l 62 = = E| - - - = -1 X
363 H B A& HT 2 X 2 - = 14| 348,659
380 ¥ fE  EN 1 X - - - 1 X
- - - - - - - - -
386 1 Ht A X - - - - 1 X
400 & 2D X - - 2 x| 7 178,628
401 @ B H]] x| - 1 x| 4 55998
I i P - 1 X 3 X
420 v B 5 E 1 X 2 X 1 X 15 174,148
424 + %yl - - 1 X - - 1 X
425 F  F  H]| - - 1 X - - 6 X
426 J5 B HT| 1 X - - X 7] 100,911
427 F & El . - = - - = - 1 X
40 F  H B 1 X - = = 20 88,122
1441 F B H] - - - - - - 5 X
42 KX ¥ OB 1 X - - 1 X
443 T T HE]| - - - - - - 8 36,842
44 B O FH - - - - - - 6 6,150
46 X JiIL - - - - - - -
447 B 8 Ji # - - - - - - - -
449 + ¥ I # - - - - - - =
450 F Jk 1L #] - - - - - - -
451 E b 0 H - - - - - -
452 )i - - - - -
463 H EF B - - - = - - - -




